| N of associated (recoToSim) duplicate tracks vs hit |

[N of associated (recoToSim) tracks vs hit_]

N of reco track vs hit

track 3D layers

o Te] o
A N o ) I
= [ 7]
> > <
[fel —
S = k]
© o x D ©
l=%ad [N M < —
“ _I s m S - <
3 3 S g —
O = ) H
3 ® E
~ & : e 8 B
o H H o
~ 2 3 —
g £
2 & ©
s : o
= B 3
[te] ° = <
g g
o} W W\ N
] ]
1) = = H S = 4 =] 2
5 =1 =1 o = =1 =1 3 o 5 =1 =1 3 S
syoel) areodnp oney L2] syoeu ayeoidnp oney =] syoexn ayeoydnp oney
o n o
< 9 % 0 54
z ] o
> > k]
LD —
3M & K
O < ) ©
Fha ~ & 2 —
1) = a <
m —
9 B g N
— - —
o o
N —
=]
LD 0
LR =1 —
©
o
—
LD <t
0 N
) o o
S S S
Ssyjoes axey oey syoel ey oney
o Te] o
M S o T % 0 N4
. . . . . . . = . ] 5
: ' > > <
o .
S ks = 3
< o x @ ©
o 5 NQ 2 S
5} E — e M <
8 W 5 —
——0 —— g g
=+ |° i el 3 £ 2 o
== —+ z 8
i i (4 -1 0 2 o
=4 < + H H =
= T £ &
E ~F- | : o
—— — - = G
= - E &
*F o I 3 2 ©
e
= AR = + 5 S
£ B o 8 g ~
= R IS T =1 3
- 3 Lo m W g m o~
AP PP PYVPPRE FYPPRE PYPPPIPI PP i =. PP PP PP PP PP 1 H 2 v s bt |
>, TN 5 o — = £ O > 5 > =) =g = g é > 8 BN =) =g T il
=1 =1 =1 =1 = 4 o mpp =1 — =1 = Kl 5 5 2 =1 = 4 =1
syjoeu) any oney I_I—I syoel any oney =] L oney
o L o
S ael — R 0 S
. . . . . . . . = . ] 5 -
o <fEEE H 3 z —
SN 3 S
=] O 5 ©
L S5Ss Sk 3 <
"~ RO = oy N
—— |~ POO0O 1 S
e = [ PP S T} 8 o~
. . —_—— .- — _ = —
PP s = =S (=) o o 5 o
o I3V ’ ‘ - 9] 5 =
“” - m >
P T S S B —J 7} B o ] K o
: e — T = a
. - — - ol o™
. - ©
cieetdedF e 3 9 e 4
. -+ — < ~ 3
I =1 I et M (N T° o o A
FEUUU NSNS SUNUEE SO S o 8 g g
. . . . o o o N
[ H 3] o s H ] 3
i Bufipoeodoogo < s Ao £ < o
a7 3 S S = S 2 S S
oney -

track 3D layers

track 3D layers

track 3D layers



	Contents
	Page 1


